EARAROBEEIERT — 2 N— IBISH —F

20185 1A7H (B) 11EIKR4E

AR [FER R

‘ (%] 8 ‘ (sl — | 4 (5) 14000 RE

[A~&E£] 17 :200,000  ~ 23&:40,000  ~ 337%:20,000W ~ 43%&:14,000 W ~ 57 :6,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
== = FER :31. 02— . — HWIEFE (KR)
N . BEEEE Y 5 HE 1(3_1)3 2-2-2-2 | 39.4 1 (4_511) i
LNR=HNK B -T2 TN =i &
S 4 9 | ROB— 1:31.4 1-1-1-1 | 39.7| — 6 452 | HEEFE (KR)
2 H 9 IV RSy 54.0 (1/2) (1) REEET
RL:ZARN=3I>Fh—L BNTFEZR=Ux RS
3 S B4 | AHIBE 1:31.6 4-4-4-3 |39.3| — 2 a7 | TEER KR
1 6 DI 54.0 (1 1/4) ) | BT
LA Lk—L B:Eai—-FT1—LT1 fiigizae]
NN s 5 | BIERIER 1:31.9 3-3-3-4 |39.8| — 3 455 | tE#RE (GR)
Y > EARdedd el (11/2) (=5) XEHET
RV TATHL LR BT —TN=— <=7 U4is
S f 6 | WIABER 1:32.4 5-6-5-5 |39.7| — 4 440 | ABEE (2%R)
5188 NIAHAITTLX 54.0 (3) (1) KRk
L:N—=Y754 B:rhohM1O-%22Z b e
= 5 | AHEMRE 1:32. 7-7-7-7 . = 44 #EE (KiR)
6|5/5|71T>7>7087 " £54.0 G 20 ° (0? £ AR EE
R:wy)FdyR B:¥—4-0-X HEAKS
- = 7 410 | BERERE 1:32.9 8-8-8-9 |39.5| — 8 477 | REERD (KGR)
7\0| 7| VY= TN 5.0 @ Lo |ELHAEF
LTI RATLE— BVIYZLRT4T7— fidbabae]
B KR . 5 G- — THEAE (M)
gl1l1| rEs28=511 B 7 A 1(/73?:) 5-5-6-6 | 40.3 7 (4:118) Pt s
T RIA Y L= BAINFA I 4
= - . € 7 | BAE 1:33.0 9-9-9-8 |39.4| — 9 458 | TEEfAF (ERM)
] 4| 7TLRT 4= K 0 75 © |xmE—
L:¥rs07O4 B:I7YEaT HR= WRHEKS
® I—F—@EBIERL
13—7F— 9,3,2,6,(1,8),5,7,4
Ao=5"= 9,3,2,6,1,8,5,7,4
3T—7— 9,3,2,6,8,1,5,7,4
41—F— 9,3,6,2,8,1,5,4,7
[ N5
B 3 1704 794K 3-9 460 & 3-8 680 &R 3-6-9 660
# B 3 1004 3-6 130H B E 3-9 1,210M EE 3-9-6 4,180
9 200M 6-9 690M B H 3-9 1,750
6 110/

ABICOVWTRDTEEERROODE. TR LIV,




